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19. Which of the following problems can be solved using the
equation x + 5 = 247

A. Claire had 24 dolls in her collection. She added five more to
it. How many dolls does she now have in her collection?

B. Lindsey has 5 times as many crayons as her sister. Her sister
has 24 crayons. How many crayons does Lindsey have?

C. James earned $5 | tips on Monday delivering packages. For
the rest of the week he earned $24 in tips. How much did
James earn in tips for the entire week?

/ D} Melissa received a gift of five fashion magazines to add to

\/) her collection. That brought the total number of magazines
in her collection to 24. How many magazines did she have
before she received her gift?

20. A banana has five more than twice the number of calories in
an apricot. If an apricot has 50 calories, which of the
following expression represents the number of calories in a
banana?

(é926m+5

B. 5(50) + 2
C. 2(50 +5)
D. 2(5) + 50
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21. Burian bought a plant that was 19E inches long. Which graph

inches per year?
|2
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represents this plant’s height if it grows 3
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Prgwers fo Resden
| 6™ PreAP Test 7 Review
Expressions and Equations
1. SimplifyP+P+P+P+1+1+1?
N~—

A. P4+ 13 P+ 3

B. 4P + 13
CH4P +3
D. 4P + 3(1)

2. Simplify 3)(\12\{%
N

3. Match the properties to tljé algebraic eEﬂgaons that Tb“\ﬂ:)
A. Commutative Property

EEREA N e

B. Association Property
C. Identity Property
D. Distributive Property

D 3(x-5)
B 2X+3Y+47Z = 47 + 2X + 3Y

& (2X + 3Y) +4Z = 2X + (3Y + 42) |
C,., (1)(X) = X?
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4. Which of the following is an algebraic expression?

A y=mx+b b ¢ Dresoion = NO 49V wl S5y
(@ mx + b e ‘_g
=~ b = ’L | \\ e
C. y — = mx i i m ol f\.‘ _ji’% X i;} %
éi 4 \\,}‘i’\:’ TN &»*/L}w \\
D. 2(6) = 12 D |

5. Which of the following is an algebraic equation?

A X+2
B. y
(?;X+2=y
D.x2-1

6. Which of the following is the standard form for a linear
equation?

A . y+2=x+2
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7. In the equation y = mx + b, what does b equal when x = 07?
8. Which is the independent variable in y = mx + b?
9. Which is the dependent variable iny = mx + b?

\/

10. Make a T chart fory = 3x -2, letting x =0, x=3 and x = -1.
Graph the points on a coordinate grid and connect the
Points.
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inate grid in question 13 above, graph
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12. List the algebraic sieps for Jolvmg ép 4 = 11, including

how to test your solution.
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13. Solve 6r + 6 when r equals 3? Test your solution. Draw your
solution on a number line.
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14.

Let + represent +1, - represent -1 and t represent time in

hours. Draw a model for 4t — 3 = 9, then solve for and graph t
on a number Jiner
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15. What value forn mtékes -5n + 2 = -8 a true statement?
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16. True of False: To

an eqUaﬁt"irbn balanced, it is necessary
to perform the same operations on both sides of the equation.
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17. True or False: To isolate for the unknown in an algebraic
equation, you perform inverse operations on both sides of the
equation, thereby keeping the equation balanced.
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18. Which situation BEST represents the equation x—4 =127

A. George had 12 apples and ate 4. What is x, the number
of apples George has left? |

q 5,George spent $4 and now has $12 left. Find x, the
=~ amount of money George began with.

C. George made $12 a day for 4 days. Find x, the amount of
money George made after 4 days.

D. George ran 12 miles on Monday and 4 miles on
Wednesday. What is x, the number of miles less George
ran on Wednesday than on Monday?




